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Q.1 Comudar a system with 5 Processes (PO FL P2 P33 PE) and Tour resources types

AR C D) Thare are 3 instances of type A, 14 instances of type B, 12 nstances of
type C and 12 instances of type D The allocation and masmmum Demand matrices
are a5 follows
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Answer the following Questions using Banker's algorithm.

1. What are the contents of the need array?
2. s aSystem in a safe state?
3. W he request from process P accives for (0,0.4,1) can the reguest be

immediately granted ?

Q.2 Consiger a system with 7 processes A theough G and six types of resources R
through W with one renource for gach type. Resource ownership s as follows:

A holds nothing Sut wanis T, B holchs nothing But wants S
€ holds nothing But wants S, D holes U and wants S and 7




£ holds T and wanta V., F holds W and wants §
G hodds ¥V and wants U
15 the system deadiocked, and if +0, Which Jroceises are iInvoived?

Q2. Comsiger the folowing sets P R ang £

P« Py P2, P33}

Ra(Rl R2 A3 Ra)

Ex(P13R1, P2ORL NIDP2 M2IP2 R2IP1)

Also consader the folowing number Of INSTaNces Per resource type
(1) One instance of resource type R1 ang R3

(=) Tweo mstances of resource type R2

(W) Three instances of resources type R4

Comsider the resource - allocation graph for the above problem. Check Whether
the system is i the Seadock

Q.4 Lxpiain the term ‘sebect a victam and rollack’ In the comtaxt of deadtiock
recovery

Q.S Consicer given snapshot of system. A system has S processes and 3 types of
resources AR C
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Avallable Armvwer the followsng guestions using Banker's Algorithen
>—3~-—<~: : (1) What s the context of the naed matex?

=4 (i) 15 the system In safe state? If yes, Give the sale
seQuence.

QL6 Answer the Follcranng Terms: (in Shoet)

i) "Wait for 2 graph’ is used for deatlock avosdance in the Syszem. True/Fake?
ruszity

1) What is deadiock? state diMerent methods 10 handie deadiock
) Whist is Starvation?

W) State the necessary conaunions Tor & deadiock 1O OCCur

v) Detine reguest eoge ang claim ecige
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